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Did he make it ownerless intending a Gentile

Overview

The X713 assumes that when a X is 9°p9n, he intends it to be 92557 only for other
Jews but not for 2>721. Our Mo reconciles our X3 with a seemingly contradictory
N2,

mMooIN anticipates a difficulty:
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And regarding the dispute between »''11 "1 in the sixth 75 of 785 noo» in the
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In a case where one was 2po» for Y872 only, but not for 2"y, where '
maintains that it is a valid “poi7 —

mooIN responds:
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When did >"1 maintain that it is a valid 7577, when a X212 took it, however if a
"921 took it, it is considered as a mistaken 9p2:7, and it is not 9po:7!

Summary
321 KDY ORW1D pon is o only if the PRI was 71917 the po!.

Thinking it over

How can m»oin compare the case there where there was an actual 7577 (and therefore
it may include even 0°123; regardless of what he said) to our case here where he left
it as XD AMOWw vPL (not pon) for YR M exclusively, therefore a *751 cannot
acquire it!?

!'In the question M50 is assuming that it is 7?97 for everyone, meaning that if the ™21 got to it first it belongs to him.
However here we concluded that a 7% is 7°pan only for other 2°2%7w°, but not for 2°121?! See ‘Thinking it over’.
2 See TMON7 WwIon XN # 123.
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